Conversion Octal en Hexadécimal (D)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 2 2. Octal = 64
Hexadécimal = Hexadécimal =
3 Octal = 1361 4 Octal = 1555
Hexadécimal = Hexadécimal =
g Octal = 317 0. Octal = 555
Hexadécimal = Hexadécimal =
T Octal = 1216 8. Octal = 1150
Hexadécimal = Hexadécimal =
0. o 10. L
Octal = 14174 Octal = 2460
Hexadécimal = Hexadécimal =
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Conversion Octal en Hexadécimal (D) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 2 2. Octal = 64
Hexadécimal = 2 Hexadécimal = 34
3 Octal = 1361 4 Octal = 1555
Hexadécimal = 2F1 Hexadécimal = 36D
g Octal = 317 0. Octal = 555
Hexadécimal = CF Hexadécimal = 16D
T Octal = 1216 8. Octal = 1150
Hexadécimal = 28E Hexadécimal = 268
0. o 10. L
Octal = 14174 Octal = 2460
Hexadécimal = 187C Hexadécimal = 530
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